
��   |  

����Ï!22/7xÏ�Ï&,5)$Ï(%!$

&OLLOWINGÏINÏTHEÏTRADITIONÏANDÏREPUTATIONÏOFÏTHEÏ 
WORLD
RENOWNEDÏ!RROWÏSERIES�ÏTHEÏALL
NEWÏ!RROWx 7  
s e t s  n e w  d i m e n s i o n s  i n  p r o f e s s i o n a l  c a m e r a   
s u p p o r t  a u g m e n t i n g  t h e  p o w e r  o f  exp r e s s i o n  o f  
c r e a t i v e  p r o f e s s i o n a l s .  

&EATURINGÏAÏWIDEÏPAYLOADÏRANGE�ÏPRECISIONÏmUIDÏ
DRAGÏANDÏ-ILLER�SÏINNOVATIVEÏ��ÏPOSITIONÏ#"Ï0LUS4- 
COUNTERBALANCEÏSYSTEM�Ï!RROWx 7  d e li v e r s  t h e  
mEXIBILITY�ÏSPEEDÏOFÏSETÏUPÏANDÏACCURACYÏOFÏSHOT�Ï
PROFESSIONALSÏEXPECTÏANDÏDEMANDÏFROMÏ-ILLER�SÏ��Ï
YEARSÏOFÏEXPERIENCE�Ï

�
��KGÏ�����
����LBS	ÏPAYLOADÏRANGEÏANDÏ�Ï�Ï�Ï
SELECTABLEÏPAN
TILTÏmUIDÏDRAGÏPOSITIONSÏMAKEÏ!RROWx 
�ÏIDEALÏFORÏ%&0�Ï3TUDIOÏANDÏ&IELDÏ/"ÏENABLINGÏITÏTOÏ
BEÏUSEDÏWITHÏAÏWIDEÏRANGEÏOFÏCAMERAS�ÏLENSESÏANDÏ
a c c e s s o ri e s  a n d  o f f e ri n g .  

#"Ï0LUS4-ÏISÏANÏINNOVATIVEÏSEQUENTIALÏCOUNTERBALANCEÏ
DESIGN�ÏTAKINGÏTRADITIONALÏCOUNTERBALANCINGÏAÏSTEPÏ
FORWARDÏAHEADÏOFÏTHEÏREST�ÏRESULTINGÏINÏREPEATABLE�Ï
ACCURATEÏANDÏRAPIDÏSETUP�Ï#"Ï0LUS4- f e a t u r e s  e i g h t  
LARGERÏCOUNTERBALANCEÏSTEPS�ÏALLOWINGÏTHEÏUSERÏTOÏ
GETÏTOÏTHEIRÏREQUIREDÏCOUNTERBALANCEÏPOSITIONÏQUICKLYÏ
ANDÏEFlCIENTLY�Ï4HEÏ#"Ï0LUSÏhONEÏmICKvÏSWITCHÏ
CONVENIENTLYÏLOCATEDÏATÏTHEÏFRONTÏOFÏTHEÏHEAD�ÏADDSÏ
a  h a l f  s t e p  b e t w e e n  e a c h  o f  t h e  e i g h t  l a r g e r  s t e p s  
ENABLINGÏCOUNTERBALANCEÏlNE
TUNINGÏWHENÏREQUIRED�Ï

4HEÏNEWÏ!RROWxÏ�ÏCOMESÏWITHÏTHEÏRELIABILITYÏANDÏ 
“THE RIGHT FEEL”ÏTHATÏAREÏTHEÏHALLMARKSÏOFÏEVERYÏ
-ILLERÏPRODUCT�

&EATURES
•  #OMPACT�ÏLIGHTWEIGHTÏANDÏVERSATILE�
•  �ÏSELECTABLEÏOFÏmUIDÏPANÏANDÏTILTÏDRAGÏÏ 
POSITIONSÏ���

•  ��ÏPOSITIONÏ#"Ï0LUS4-ÏCOUNTERBALANCEÏSYSTEM�

•  7IDEÏPAYLOADÏRANGEÏ�
��KGÏ�����
����LBS	�

•  &LUIDÏDRAGÏSYSTEMÏWITHÏSMOOTHÏSTARTÏANDÏSOFTÏ 
STOPÏTECHNOLOGYÏ�ÏBALANCEDÏDIAGONALÏTRANSITIONS�

•  #ONTROLSÏhALLÏINÏONEÏLOCATIONvÏDESIGNÏFORÏFASTÏEASYÏ
a n d  p r a c t i c a l  u s e .

•  Ill u m i n a t e d  b u b b l e  l e v e l  a n d  p a n - t il t  d r a g  c o n t r o l s .

•  0RECISEÏmOATINGÏPAN
TILTÏCALLIPERÏLOCKSÏENSUREÏ
b o u n c e  f r e e  o n - o f f  p e r f o r m a n c e .

•  1UICKÏRELEASE�Ï���MMÏSLIDINGÏCAMERAÏPLATFORMÏ
WITHÏCAMERAÏPLATEÏ�EURO	�

•  2EMOVABLEÏBALLÏLEVELÏSTUDÏFORÏmATÏBASEÏMOUNTINGÏ
�3LIDERS	ÏWITHÏ���vÏSCREWÏHOLE�

•  -ITCHELLÏBASEÏADAPTABLE�
•  2OBUSTÏCONSTRUCTIONÏFORÏRUGGEDÏOUTDOORÏSHOOTINGÏ

c o n d i t i o n s .

•  O p t i o n a l  s e c o n d  p a n  h a n d l e  m o u n t .

•  3IDEÏMOUNTINGÏPOINTSÏFORÏVIEWlNDERSÏANDÏ
a c c e s s o ri e s .

•  4HREE
YEARÏWARRANTY�

4(%Ï(%!69Ï$549Ï0%2&/2-%2

#!$ÏRENDEREDÏIMAGE



m ill e r t r i p o d s . c o m ��  |  

16 selectable positions 
of counterbalance for 
payloads between 6-25kg

7 plus zero positions of 
fluid pan drag

Quick release, 120mm 
sliding camera platform

Illuminated bubble level 
and pan-tilt drag controls

Replaceable tilt 
end rosettes

Positive pan-tilt locks 
calliper brake system

7 plus zero positions 
of fluid tilt drag 

Counterbalance Performance

Camera Payload (kg)

C 
of

 G
 a

bo
ve

 C
am

er
a 

pl
at

e 
(m

m
)

Specifications -1076

Weight 3.4kg (7.4lbs)
Payload range 6-25kg (13.2-55.1lbs) 
Pan-tilt drag 7 selectable fluid drag positions + 0
Pan range 360°
Pan-tilt locks Positive lock calliper brake system
Tilt angle +90°/-75°
Counterbalance 16 selectable positions
Camera platform Quick release camera plate with 1⁄4” and 3/8” screws
Sliding range 120mm (4.7”)
Height above bowl 162mm (6.4”)
Mounting base 100mm (3.9”) ball levelling with 3 x M5 holes for flat base 

mounting
Illuminated controls Bubble level, pan-tilt drag controls
Temperature range -40° to +65°C (-40° to +149°F)
Pan handle Telescopic 390 to 590mm (15.4 to 23.2”)

Spare screw storage

Camera plate (Euro)  
with 1/4” and 3/8” screws

Sliding camera platform lock



��   |  

3YSTEMSÏ!RROWx 7

*System weights do not include the weight of the bag

Components:

1076 Arrowx 7 fluid head
931 HD 1-stage tripod (alloy) 
993 Mid level spreader 
475 Rubber feet (set of 3)
696 Pan handle - telescopic with clamp

3175
System Arrowx 7 HD 1-stage (alloy)
WITHÏ���Ï-IDÏLEVELÏSPREADERÏ�Ï���ÏFEET

  6-25kg
13.2-55.1lbs

10.4kg 
23.1lbs

 947-1737mm 
37.3-68.4”

 1092mm 
43”

Components:

1076 Arrowx 7 fluid head 
1576 Sprinter II 2-stage tripod (carbon fibre) 

993 Mid level spreader 
475 Rubber feet (set of 3)
696 Pan handle - telescopic with clamp
975 Arrow shell case with wheels 

3164
System Arrowx 7 Sprinter II 2-stage (carbon fibre)
WITHÏ���Ï-IDÏLEVELÏSPREADERÏ�Ï���ÏFEET

 6-25kg
13.2-55.1lbs

8.2kg 
18.2lbs

 602-1692mm 
23.7-66.6”

 862mm 
33.9”

Components:

1076 Arrowx 7 fluid head
1589 Sprinter II 1-stage tripod (alloy) 

993 Mid level spreader 
475 Rubber feet (set of 3)
696 Pan handle - telescopic with clamp
870 Arrow softcase 1-stage

3156
System Arrowx 7 Sprinter II 1-stage (alloy)
WITHÏ���Ï-IDÏLEVELÏSPREADERÏ�Ï���ÏFEET

  6-25kg
13.2-55.1lbs

8.2kg 
18.2lbs

 832-1592mm 
32.8-62.8”

 1002mm 
39.4”

Components:

1076 Arrowx 7 fluid head
1589G Sprinter II 1-stage tripod (alloy)

470 On ground spreader 
696 Pan handle - telescopic with clamp
870 Arrow softcase 1-stage

3155
System Arrowx 7 Sprinter II 1-stage (alloy)
WITHÏ���Ï/NÏGROUNDÏSPREADER

 6-25kg
13.2-55.1lbs

7.8kg 
17.3lbs

797-1587mm 
31.4-62.5” 

 1002mm 
39.4”



m ill e r t r i p o d s . c o m ��  |  

!RROWxÏ�Ï3YSTEMÏ#OMPARISONÏ#HART
CAT Components� 3155 3156 3164 3175 3179

1076 Arrowx 7 fluid head • • • • •
860 Camera plate (Euro) with 1/4” & 3/8” screws • • • • •
696 Pan handle - telescopic with clamp • • • • •

1589 Sprinter II 1-stage tripod (alloy) •
1589G Sprinter II 1-stage tripod (alloy) •

1576 Sprinter II 2-stage tripod (carbon fibre) •  
931 HD 1-stage tripod (alloy) •
925 HD 2-stage tripod (carbon fibre)  •
470 On ground spreader •  
993 Mid level spreader • • • •
475 Rubber feet (set of 3) • • • •
870 Arrow softcase 1-stage • •    
975 Arrow shell case with wheels •  •

Accessories�

858 Offset camera plate with 2 x 3/8” screws
860 Camera plate (Euro) with 1/4” & 3/8” screws
696 Additional pan handle - telescopic with clamp

1219 Accessory mounting bracket
1217 Accessory adaptor 1/4”, 3/8” holes to suit 1219
1225 Mitchell base adaptor with clamp

Components:

1076 Arrowx 7 fluid head
925 HD 2-stage tripod (carbon fibre) 
993 Mid level spreader
475 Rubber feet (set of 3)
696 Pan handle - telescopic with clamp 
975 Arrow shell case with wheels 

3179
System Arrowx 7 HD 2-stage (carbon fibre)
WITHÏ���Ï-IDÏLEVELÏSPREADERÏ�Ï���ÏFEET

 6-25kg
13.2-55.1lbs

9.6kg
21.1lbs

 642-1752mm 
25.3-69.0”

 912mm 
35.9”


